Z N E E s 8 (A0 1K 85 i A f

SCT 2 JAW SCROLL CHUCK(FRONT AND BACK MOUNTING)

1 EOEE
2ERE—ERERME—4
S EREEREKE

#1& / Specification

SCT-04* 44

SCT-05" 63
SCT-06 88
SCT-07 107
SCT-08 128
SCT-09 147
SCT-10 176

SCT-04" 112 58
SCT-05* 132 60
SCT-06 167 66
SCT-07 193 76

SCT-08 203 76
SCT-09 233 84
SCT-10 273 86

¥ BErimiERIR4 B4/8; Note: The front mounting bolts are 4pcs

1.Plain back
2.Standard accessories: 1 set outside
solid jaws and 1 setinside solid jaws

3.High accuracy on repeating clamping

i

1T

V4

g

-— ¥

80 95 24 4.5

100
130
155
160
190
230

12
15
31
31
33
37
46

115
147
172
176
210
250

32
45
58
58
70
89

3.1
4.4
11.4
22
16.2
2l
28

4.5
5
5
5

55

5.5

& 3HFL

back mounting

DA
@D
@C
9E

[ |\

Vil

C

i

HEE 7L
front mounting

G

2500
2500
2000
2000
2000
2000
1800

3(4)-M8x1.25P
3(4)-M8x1.25P
3-M10x1.5P
3-M10x1.5P
3-M10x1.5P
3-M12x1.75P
3-M12x1.75P

RBENERAREH, A SITIES Subject to technology changes without prior information

+ JEHEE KA R Non-standard requirements can be made

3-90
31110
3-160
4-180
4-180
5-220
6-260

50
70
84
84
84
105

20
20
25
25
25
28

B

RN

NUAL CHUCK

32-84
35-100
48-150
56-170
56-170
62-210
70-250

20
32
29
29
29
34

AL /UNIT:mm

42 15 16 9

]
11
il
11
14
14

O
=
>
=]
=




)< B2 5

NUAL CHUCK S

MK B 7 1 8 (50 1% 35 i@

SCF 4 JAW SCROLL CHUCK(FRONT AND BACK MOUNTING)

EMEELFERIEHEER) '

SC 3 JAW SCROLL CHUCK(FRONT AND BACK MOUNTING)

1EHER 1.Plain back 1 HEREE 1.Plain back
2ER—ERAERTNE—4 2.Standard accessories: 1 set outside 2ER—ERXERME—4H 2.Standard accessories: 1 set outside
SEMEEREKE solid jaws and 1 set inside solid jaws JEREEHREKRF solid jaws and 1 set inside solid jaws
3.High accuracy on repeating clamping 3.High accuracy on repeating clamping
BT w7
back mounting back mounting
G G
T T
F F
<|o|o|w LK <| 0o O|w .
SIS SEERSIES
—H | —H
- /s
{ - i %— f Vvl
Il
BISHTL / B BB | B
front mounting front mounting
G G $: N
#1& / Specification B4/ UNIT:mm o
#H#%& / Specification B {7 /UNIT:mm
sc-03 29 9 15 2500 2-70 24-64 >
SC-04 44 1 3.1 2500 3-90 32-84 . . . g - . —
SC-05 63 15 4.4 2500 3-110 35-100 i 44 e 1 Eao sae i =]
SC-06 88 31 11.4 2000 3-160 48-150 SLr=05 6P = ot e el sam1oy
SC-07 107 31 122 2000 4-180 56-170 SCF-06 88 S e 3-160 ] L
SC_08 128 a3 16.2 2000 4-180 56-170 SCF-07 107 31 12.2 2000 4-180 56-170 —
SC-09 147 37 212 2000 5-220 62-210 SCF-08 128 33 16.2 2000 4-180 56-170
sc-10 176 46 o8 1800 6-260 70-250 SCF-09 147 37 21.2 2000 5-220 62-210
sc-12 206 55 41 1800 10-300 86-290 SCF-10 176 46 28 1800 6-260 i )
SC-14 225 55 54 1500 12-350 94-330

o - = _— --- .-_.---
------_---- SCF-04* 112 58 80 95

4.5 3(4)-M8x1.25P

SC-03 3-M6x1P SCF-05* 132 60 100 115 32 45  3(4)-M8x1.25P 50 20 20 9
SC-04 112 3-M8x1.25P SCF-06 167 66 130 147 45 5 3-M10x1.5P 70 20 32 11
SC-05 132 50 100 115 32 4-5 3-M8x1.25P 50 20 20 9 SCF-07 193 76 155 172 58 5 3-M10 x 1.5P 84 25 29 11
SC-06 167 66 130 147 45 5 3-M10x1.5P 70 20 32 n SCF-08 203 76 160 176 58 5 3-M10x1.5P 84 25 29 11
Sc-07 193 76 155 172 58 5 3-M10x1.5P 84 25 29 iy SCF-09 233 84 190 210 70 55 3-Mi2x1.75P 84 25 29 14
SC-08 asa 0 (SRS S0 S SR : S=MI0RE S S 5 i il SCF-10 273 86 230 250 89 55  3-Mi2x1.75P 105 28 34 14
SC-09 233 84 190 210 70 5.5 3-M12x1.75P 84 25 29 14
SC-10 273 86 230 250 89 5.5 3-M12x1.75P 105 28 34 14
8C-12 310 96 260 285 105 7 3-M12x1.75P 125 32 41 14
SC-14 355 112 300 328 127 7 6-M12x1.75P 125 32 41 15
SC-16 405 122 945 975 180 8 6-M14x2P 145 36 56 15

. RiimE 24 2418, Note: The front mounting bolts are 4pcs
< REBEAELAER, MASITEL Subject to technology changes without prior information < REEAFUAER, BABITES Subject to technology changes without prior information
+ B K ATETM Non-standard requirements can be made * FIEFE KA FTH Non-standard requirements can be made




|
¥ ifl) < B2 2

NUAL CHUCK S .IEi

Z 5% 3\ B E sk 88 (R 1K SHiE ) '

SKT 2 JAW UNIVERSAL SCROLL CHUCK(FRONT AND

ZIN5E A5 B E LK B (R iR sHE H) :

SK 3 JAW UNIVERSAL SCROLL CHUCK(FRONT

BACK MOUNTING) AND BACK MOUNTING)
1. BERE#E 1.Plain back 1.ERAERE 1.Plain back
2 1= 4y B 3t FE U — 48 2.Standard accessories: 1 set two—piece hard jaws 2AEmMABEXTEN—4  2.Standard accessories: 1 set two-piece hard jaws
S EREEERE 3. High accuracy on repeating clamping 3SEREERERE 3.High accuracy on repeating clamping
i
N ack mounting
J backnfﬁj%ﬁti};g G
§ =
= F Ll
F
<|0|o|w
5 SIS —=—: B
< 0| 0| W
[SIROIESIRS] T b
‘ front Eﬁﬁt‘ﬂ' .
AR | ront mounting L
= - s %/

B /UNIT:mm

m

3-90 32-84

SK-04
SK-05 3-110 35-100 O
#1% / Specification B4z / UNIT:mm SK-06 8-160 55-150
; SK-07 107 31 12.2 2000 8-180 62-170 g
- EBX §#0E A fE SK-08 128 33 16.2 2000 8-180 62-170
Model/Spec Max. Allowal ange .D. Clamping Range SK-09 147 37 21.2 2000 11-220 70-210 >
’ i N*r LRG| mm mm SK-10 176 46 28 1800 12-260 80-250
SKT-04% Lo 12 3.1 2500 3-90 32-84 SK-12 206 55 41 1800 15-300 90-290 _I
SKT-05* 63 15 4.4 2500 3-110 35-100 SK-14 225 55 54 1500 15-350 100-330
SKT-06 88 31 11.4 2000 8-160 55-150 :ﬁ‘;g :‘E‘g gg 17440 1750"00 gg‘;gg 1 ;g‘igg m
SKT-07 107 31 12.2 2000 8-180 62-170 SK-25 450 78 235 850 80-630 198-601 —
SKT-08 128 33 16.2 2000 8-180 62-170 SKB-25 420 78 208.5 850 160-630 274-646
SKT-09 147 B 2402 2000 11-220 70-210 SK-32 460 88 442 500 150-800 240-750
SKT-10 176 46 28 1800 12-260 80-250 SK-40 500 115 590 400 250-1000 425-950
SK-50 500 125 850 300 320-1250 490-1200
SK-04 112 58 80 95 24 4.5 3-M8x1.25P 46.5 19 32 9
SK-05 132 60 100 115 32 4.5 3-M8x1.25P 56 22 40 9
SKT-05* 132 60 100 115 32 4.5 3(4)-M8x1.25P 56 22 40 9 SK-07 193 76 155 172 58 5 3-M10x1.5P 80 30 47 11
SKT-06 167 66 130 147 45 5 3-M10x1.5P 67 25 43 11 SK-08 203 76 160 176 58 5 3-M10x1.5P 80 30 47 11
SKT-07 193 76 155 172 58 5 3-M10x1.5P 80 30 47 11 SK-09 233 84 190 210 70 5.5 3-M12x1.75P 80 30 46 14
SKT-08 203 76 160 176 58 5 3-M10x1.5P 80 30 47 11 S0 Clil = il = i e SRl asl L i 2 i
SKT-09 233 84 190 210 70 55  3-M12x1.75P 92 30 46 14 gﬁji 2;2 19252 ggg igg 122 ; g:m::;gﬁ 113 :g 22 1:
SKT-10 273 86 230 250 89 5:5 3-M12x1.75P 92 36 54 14 SK_16 405 122 345 275 160 8 6-M14x2P 130 45 70 17
SK-20 500 140 420 458 205 5.5 6-M16x2P 166 50 92 19
SK-25 630 140 545 586 252 6.5 6-M16x2P 210 52 92 19
SKB-25 630 140 545 586 320 6.5 6-M16x2P 210 52 92 19
SK-32 800 159 450 368.3 320 20 6-M24x3P 225 52 92 19
SK-40 1000 190 910 950 460 10 6-M24x3P 329 85 115 24
SK-50 1250 195 1000 1100 560 10 6-M30x3.5P 367 85 100 24

“F. BlimE R4 B48; Note: The front mounting bolts are 4pcs
«REHAELAER, WA RITEH Subjecttotechnology changes without prior information «REFEAELAER, MARITHEM Subject to technology changes without prier information
+ JEZEEK AT Non-standard requirements can be made * JFEFKATFT M Non-standard requirements can be made




b)) K B2 741

NUAL CHUCK Sk

M52 h =K A Dk B (& $HiE )

SKF 4 JAW UNIVERSAL SCROLL CHUCK(FRONT

5 7) R 35 Bl 8

POWERFUL TYPE SUPER THIN SCROLL CHUCK

AND BACK MOUNTING)
1 EOERE 1.Plain back O EBFMBEHI0° A, EEREEER,
2 AR Bl oy m S URE I —4H 2.Standard accessories: 1 set two-piece hard jaws © E%ﬂﬁ' ?i‘gmamTlﬁﬁﬂﬁg"
IEIEEEREXREF 3. High accuracy on repeating clamping © SMERMOERE, KBER.
© BABRFATEREM,
© The handle designed with an angle of 30 degrees is much convenient
J Badi moumiig for operations.
G © The "super thin thickness" designment of the chucks increases the
— "allowable distance"of machining of operations.
F R - @ Chuck flange makes the loading and unloading operations simpler
u}
P and more converient.
© Hard jaws and soft jaws can be used alternatively.
<ooluw |l K |
[SISIESIES G I
P =
1 [ :
nL !
___‘_l__ - F K
o~
BI z ey | R - -
front m%t%lig I B g |ala —8 o
G —
#1& / Specification EfL/UNIT:mm
: b i T o
SKF-04* 44 12 31 2500 3-90 32-84 5] g
SKF-05* 63 15 4.4 2500 3-110 35-100 B1 >
SKF-06 88 31 11.4 2000 8-160 55-150
SKF-07 107 31 o) 2000 8-180 62-170 _|
SKF-08 128 33 16.2 2000 8-180 62-170 S m
SKF-09 147 37 o 2000 11-220 70-210 FCK-06 220 170 58 18 130 147
SKF-10 176 46 28 1800 12-260 80-250 FCK-08 270 210 66 20 155 172 T—
SKF-12 206 55 41 1800 15-300 90-290 FCK-10 315 255 73 20 190 210
SKF-14 225 55 54 1500 15-350 100-330 FCK-12 370 305 80 29 250 285
SKF-16 245 60 74 1500 30-400 110-380

SKF-04* _5 3(4)-M8x1.25P 46 FCK-08 60 6 3-M10x1.5P 80 30 50

SKF-05* 132 100 15 45  3(4)-M8x1.25P FCK-10 80 6 3-M12x 1.75P %5 36 53.8

SKF-06 167 ss 130 147 45 5 3-M10x1.5P 67 25 43 T FCK-12 105 6 3-M12x1.75P 108 42 63.3

SKF-07 193 76 155 172 58 5 3-M10x1.5P 80 30 47 1

SKF-08 203 76 160 176 58 5 3-M10x1.5P 80 30 47 11

SKF-09 233 84 190 210 70 6 3-M12x1.75P 80 30 46 14

SKF-10 273 86 230 250 89 55  3-MI2x1.75P 95 36 54 14

SKFis o5 122 a0 a8 fo7 7 sMiars  fo 4 6o 1 . : : 2 LT o

= = X1,

SKF-16 405 122 345 375 160 8.5 6-M14x2P 130 45 72 17 Foros " ' o1-o2%0 062-0190 e
FCK-10 14 16 @12-@250 @72-0240 27.9
FCK-12 14 16 @15-@300 966-D290 429

¢ REHEMELHAF, BABITEM Subject to technology changes without prior information
+ JEEFRATETHM Non-standard requirements can be made

YiE . BUTH #2244 F41E; Note: The front mounting bolts are 4pes

« REBHEHELMHER, BFSITEM Subject to technology changes without prior information
# JEETE KA AT # Non-standard requirements can be made




iNINNE

NUAL CHUCK RIE

BRB = N

B
D1 3-JAW D1 TYPE CHUCKS
EEE 38 ﬂ
A -
M-Mm;E E/ [I_,_
------- *i i = K T8 j{gf‘a’ Riks
________ i. LL’______LéJ = 1 - ““‘ﬁ?‘?'ﬁﬂ"

g #11& / Specification B {/UNIT:mm

#11& / Specification WAL .I...III.I.
. 15 46 19 28 43 11

D,5-08" 200 83 82.563 104.8 82
D,6-08" 200 83 106.375 16 58 22.2 133.4 82 28 43 11 2000 28-9180 @62-@170 17.3
D,6-10" 255 94 106.375 16 760 [22:2| 133:41 (8 e3 32 50 12 1800 @11-2240 @70-@230 31.3
D,8-10" 255 94 139.719 18 76 254 1714 93 32 50 12 1800 @11-@240 ©@70-@230 30.9
AS-04 112 58 80 95 a2 4.5  3-M8x1.25P 45 14 46 8 1200 22-232 3.8 D,8-12" 3100 105 139.719| 18 | 103 254 1714 118 40 56 14 1800 @15-@300 @90-@290 51.1
AS-06 167 65 130 147 60 50 3-M10x1.5P 66 19 43 10 1200 @3-260 8.2 D,11-20" 500 135 196.869 - 180.5 30.2 235 140 55 84 19 1000 @25-0480 ©125-0460 165.5

2000 @8-@180 @62-0170 17.8

AE 8-JAW AWL TYPE CHUCKS A1(A2) 3-JAW A1(A2) TYPE CHUCKS

@1 A2 Fig.1 Al type &E-2 A28 Fig2 A2 type
=Ly
| N ]
«E/M T

3|6l %E"'—
\
& F;'aw o

O
=
>
-]
1L

eE
1
T

oD
=
oF [y
|
I

#1& / Specification EEf/UNIT:mm

# 1% / Specification B AI/UNIT:mm

24 60

AE-09 233 84 190 210 100 55 4-M12x1.75P 85

A5-08" 200 83 335619 40 01048 3-M10x1.5P 82 82.563 28 43 1114.29 @163 6.8 2000 78-0180 @62-0170 17.4

A6-08" 200 83 335826 56 1334 3-M12x1.75P 82 106.375 28 43 11 15.88 @19.3 6.8 2000 @8-@180 @62-G170 18
G '0.D.Clamping A6-10" 25591536.5 826 56 @133.4 3-M12x1.75P 93 106.375 32 50 1215.88 @19.3 6.8 1800 @11-0240 ©&70-0230 30.6
12 1000 @7-2100 21 A,11-20" 500 135 40 235 190.5 ©235 6-M20x2.5P 140196.869 55 8419 - @29.410.7 1000 @25-0480 @125-0460 161.5




i) KER 5

NUAL CHUCK S

MC SUPER THIN SQUARE CHUCKS NSE SUPER THIN CHUCKS

B e # | oPERATION EXAMPLE
‘ o 188, ., EIRRRE, BAR ISR,
! | e N O 2 EHEMEINENR, EIMEFIRFES TS,
- | B o 3SMBLARE, IR,
‘ " : © 4. 7% JIVIE fe e+ s ET, HRIER{E.
© 5.2 " R/AITHRFF0.8mm,

© 1.By the compactness comes from"LightThin and
Small" designing concept, thechucks are most
fitting to hold workpiecesfor measuring.

© 2.Rotating the chuck knob directly forgripping
and loosening, the handle is notnecessary to
be used.

© 3.The chuck body is made of very durablesteel.

© 4.Jaws can be reversibly used, Gripping forvar
MC Bff &8 JTC = ious sizes becomes much convenient.
& A . = © 5. The 2"model chuck can even grip thesmall 0D
© ‘I.MCﬁ]%E‘J‘ﬂ%?‘iﬁ;‘Eﬁ*E RMREZH Sesuenbiiacionn
B BW.X,Y, 28 Z B EAZER0.05mm
LA

#R#& / Specification

o 2. MCHEHE#HRE, EFRRBEAKZ M

I, UERGOEAREE, BEH. HE. ,gmmpg A B ¢ D E F & H U Kk LM para

o BENMEEXRFZHEAEZE.02mmIA, R . |

o 48138 TR E 4 T TN NSE-02 63 28 118 100 16 4-M5x0.8P 27 8 13 8 26  ©8~063 ©23~058 1.2
@j;,%;{T‘BZIE{&, BINFFHFZ FITRER NSE-03 85 37 143 116 20 4-M6x1P 35 11 15 105 32  @1~081 @31~970 2.9
0.05mmiA A, NSE-04 110 39 168 140 26 4-MBX1P 42 14 19 10 40  @1~@100 236~290 43

4-M8x1.25P 50 16 21 115 49 ©@1.5~8116 @43~0106 6.2
4-M10x1.5P 65 19 26 15 70 ©@1.5~2160 @52~0148 Tl
4-M10x1.5P 75 22 24 15 80 @4~@200 @58~0185 16.3

NSE-05 130 45 202 168 32
NSE-06 160 52 248 208 50
NSE-08 200 55 280 245 58

MC SQUARE SHUCKS

© 1.MC chucks are precisely ground,the
tolerances of W,X,Y,Z among chucks are
with in 0.05mm.

© 2.Soft jaws can be used alternatively for
machining special shaped work pieces,to
substitute for designing and making a lot of
jigs for this purpose.

» 3.The repetitive gripping accuracy with the hard

(o =T o - T o) TS ) B N

NST STAINLESS STEEL SUPER THIN CHUCKS

O
=
>
-]
1L

R~FE / DIMENSIONS

©

jaws are with in 0.02mm.
- i . ificati B8 {ir/UNIT:
O © 4.Parallel gripping accuracy with hard jaws can iﬁﬁl‘v‘s’p?mflcatlon MALUNIT
> be controlled with in 0.05mm after aligning “m A B |G| B E|E G I (S R B
() sides of chucks. MC-06 215 57 18 130 40 55 4-M10x1.5P 68 26 39 14
m MC-08 250 65 20 160 55 & 4-M12x1.75P 82 28 43 17 P — W ONIT
RIS W X, Y, 7 SENET MC-10 310 72 22 200 70 6  4-M14x2P 93 32 50 21 pecification ; Gl
N s Ay T = BTN —
— & MC-12 380 85 25 260 100 7  4-M16x2P 118 40 56 23 EEiL . : - e ) e %
N v Shiod X B 6 B E | E G H | 4 || & |t M L PIRIBIE  yeignt
o R MODEL / SPEC. ‘ - - : : - LDClamping "~/ "
=] Y WR/RE L o g g Meomengpamesr  am 9
O 0 I " mopewspec. M N P Q@ RS ugmm  pamm VOO NST-02 63 28 118 100 16 4 4-M5x0.8P 27 8 13 8 26  @8~@63 223~258 1.2
gg; : & i T e |® 0.D.Clamping NST-03 85 37 143 116 20 4 4-MBx1P 35 11 15 105 32 @1~281 231~870 2.9
> N g ; MC-06 144 165 144 165 66 18 04-9128 0559128 - NST-04 110 39 168 140 26 5 4-M6x1P 42 14 19 10 40 @1~@100 236~290 4.3
— R ‘ﬁf MC-08 174 200 174 200 83 18 ©5-9162 262-2162 186 NST-05 130 45 202 168 32 6 4-M8x1.25P 50 16 21 115 49 ©15~@116  ©43~0106 6.2
ms= ‘ - i ] ‘ MC-10 218 250 218 250 104 18 @6-2200 ©72-2200 316 NST-06 160 52 248 208 50 8 4-M10x1.5P 65 19 26 15 70 @1.5~@160 @52~@148  11.1
o MC-12 274 310 274 310 135 22 ©10-2265 290-2265 56.6 NST-08 200 55 280 245 58 8 4-M10x1.5P 75 22 24 15 80 @4~@200 @58~@185 16.3




- ) < B2 54!

NUAL CHUCK SRIE

NO1 SUPER THIN CHUCKS

ety | 6 TNT 2-JAW STEEL BODY CHUCKS
N

AR R e
1A EREERRENAEE,
o MFRAIBAEEHAE, MAKSEIHER.
©3.EMBEEMECNCERMEMNLA,
O4MmEBRBELHRREES, WELE,

SEEE i 5ag ;% T
geRe oL eERl A ERESR.
i o 5 BN FENBMRIEIES.
_|h|
o - Steel body chucks:
© 1.Canbeusedasa "Forming plate " for maching
NO1-50~N01-65 N01-80 soft jaws.
© 2.Hard jaws and soft jaws can be adjusted just like
on a power Chuck to increase the gripping range.
T -7 © 3.Hard jaws as well as Soft jaws are
— interchangeable with those of power chucks.
- - < o -+—-—t-—m0al g ——-—F- w - - w © 4.Chuck Body is made of steel to enhance safety
i operations for high speed machining.
— ) © 5.The Chuck Handle can be operated easily and
— smoothly.
HEBLSE R / ILLUSTRATE
#R 1 / Specification B fir/UNIT:mm 1 o
NO1-50 1-15  20-48 20-47 9000 I 0.4 I
NO1-65 2-16  25-60 22-55 8200 8 0.7 m
NO1-80 2-18 25-75 22-63 7500 9 12 —— R=F@E /DIMENSIONS —
AT A R T i JBE A JTORR B
| The chuck can be used as a
M " Forming plate " for machining
NO1-50 50 28 15 M12x1 4 48 33 o Al e
NO1-50 50 28 15 M1 4x1 4 48 33 #H#%& / Specification EEfiT/UNIT:mm )
NO1-50 50 28 15 SM3/4-16 4 48 33 -
NO1-65 68 28 15 M12x1 4 48 33
NO1-65 68 28 15 M14x1 4 48 33 \ |
NO1-65 68 28 15 SM3/4-16 4 48 33
NO1-80 84 45 25 3-M5 3 42 30 TNT-07 193 155 172 58 5  3-M10x1.5P 73 31 38

78 "
TNT-09 233 (85 190 210 |70, 55 3-Mi2x1.75P = 95 35 40 12
+ REEFELMER, RABITEM Subject to technology changes without prior information ‘
+ AR TR AT Non-standard requirements can be made —
JTUAF AT BT 48 A B A B n ok 3k
#HITHEE

Top jaws can be adjusted
back and forth easily, thus
increasing gripping range.

TNT-07 20 12 3200 28~@235 266~2235 14.4
TNT-09 25 14 2800 211~2280 285~2280 223




I b)) < {2 5

NUAL CHUCK S

NT 3-JAW STEEL BODY CHUCKS BRI = AR e v oE

CT 3-jAW ADJUSTMENT STEEL BODY SCROLIL CHUCKS

ER MR

O 1 AT R 5 o R A TR AL A

o2 MEFTHEEERE, MAKSTHEE,

© 3.4 R M SACNCH ity T 2t i .

04 ERMERREROHEREME, ENEE,
EREMER,

o 5 BEIEF S BUNE IR

%)

Steel body chucks:
© 1.Canbe used as a " Forming plate " for maching
soft jaws.

ﬁ:} )
WU
loe
1
i
aC
i @D

© 2.Hard jaws and soft jaws can be adjusted just like
on a power Chuck to increase the gripping range.

© 3.Hard jaws as well as Soft jaws are

interchangeable with those of power chucks. B8 {L/UNIT:mm

© 4.Chuck Body is made of steel to enhance safety

operations for high speed machining. = Gy | R e | e e G (1) [T B <O N 8 M

© 8.The Chuck Handle can be operated easily and | Jommwrm CT.06 167 755 130 147 45 12 3-MIOx1.5P 65 22 286 10 4-M10X15P 4000 ] 10.4
smoothly. : CT07 193 85 155 172 58 12 3-M10x1.5P 75 24 285 11 4-MIOx1.5P 3500  ©@4-@180  @56-2170  12.9
, CT.09 233 92 190 210 70 125 3MI2x1.75P 85 28 33 12 4-MIOx1.5P 2900 @5-9220  ©62-0210  20.4
<) CT-10 275 98 230 250 89 125 3-MI2x175P 98 30 38 12 4-M10x1.5P 2500  @6-2260  ©70-2250  29.3
__________ . .. CT-12 310 111 260 285 105 14 3-MI12x175P 110 32 45 14 4-M12x1.75P 9900  ©10-@300  @86-0290  43.7
! m
iy e R EE
BT S B TSR / ILLUSTRATE . e 2 (@]
ANZE
77 = | F
3 [ VASE
Ty =} I
o 6§ 5 >
e / E] |12 m* FCT 4-JAW ADJUSTMENT STEEL BODY SCROLL CHUCKS
i : B G
‘ i m
#4%& / Specification EEHL/UNIT:mm 3
I JTC S 36 JBR ole A2 5E JTU: A [ ] ] i —
K_
Hard jaws are interchangable 3|l B s = = y " wi
with those of power chucks. A B C D E F G H JoK L [ -F---11 Qlal<
4 NT-07 193 78 155 172 58 5 3-M10x1.5P 78 28 46 11 F
45 31 B 4 NT-09 233 85 190" 2100 V700 P55 3-M12x1.75P| 92 |32/ 52 |12 E -
NT-10 273 91 230 250 89 55 3-M12x1.75P 101.5 37 56 12 T i
NT-12 310 104 260 285 105 7 3-M12x1.75P 116 47 67 14

i

BAH/UNIT:mm

: R
AMSGHRSAE A e (min") g 1.D.Clamping B ¢ b BE F & H|L K|L M
_ _ _ NT-07 20 12 3200 28~2235 266~2235 13.1 ‘ 1DCla
Soft jaws are interchangeable ~ Optional accessory: NT-09 25 14 2800 211~2280 285~2280 212 FCT-07 193 85 155 172 58 12 3-M10x1.5P 75 24 285 11 4-M10x1.5P @4-2180 @56- 2170
ith those of power chucks Mountin late. = 2 < 1 # 5
wi power chu gp NT-10 30 16 2400 #12~3330 pr— 30.5 FCT-09 233 92 190 210 70 125 3-Mi2x1.75P 85 28 33 12 4-M10x1.5P 2900 @5-2220 @62-@210  20.7

FCT-10 275 98 230 250 89 125 3-MIZxI.75P 98 30 38 12 4-MIOx15P 2500 @6-9260  ©70-@250 298
NT-12 30 21 2100 215~2370 2104~2370 46.1 FCT-12 310 111 260 285 105 14 3-Mi2x1.75P 110 32 45 14 4MI2x1.75P 2200  @10-8300  ©86-8290  44.4




i) K B2 781

NUAL CHUCK SRIE

i_mT Tﬂn%ﬁ' EﬂﬂMMWfﬁﬁ%%ﬁ'

TKT 2-JAW POWERFUL TYPE ADJUSTMENT STEEL BODY CHUCKS FKT 4-JAW POWERFUL TYPE ADJUSTMENT STEEL BODY CHUCKS
—
B——r3
L=
| pe—seegale
FmS
r +—H ; |1 :
HEh L@
CTF PG
o L %
#1& / Specification B f/UNIT:mm

TKT-06 167 75.5 130 147 45 12 3-M10x1.5P 73 26 405 10 4-M10x1.5P 4000  29-2160  @60~2150 10.4
TKT-07 193 85 155 172 58 12 3-M10x15P 95 31 49.5 11 4-M10x15P 3500  @10~0180  @70-2170 14.6
TKT-09 233 92 190 210 70 125 3-M12x1.75P 110 37 50 12 4-M10x15P 2900  @12-8220  ©80-2210 22.4

ﬁﬁi_MT B U 5 %E'

KT 3-JAW POWERFUL TYPE ADJUSTMENT STEEL BODY CHUCKS

I31LVINO

B G
| bl
@T__“:___l.

E
; M
=]
=]
K =

W-telel s

-5 r T | F
T }g i E
E i

L \m
##% / Specification I'I B E/UNIT:mm #14% / Specification B AL/UNIT:mm
KT-06 7 755130 147 45 12  3-M10x1.5P 10 4000 28~ 55~@150 9.7 Ill.ll-llll-
R g s 7 1560 2 152 0 2] A i ) IS I 1000 I Bk S B s il S
KT-00 233 92 190 210 70 12.5 3-M121.75P 93 32 51 P OHUTEE K| Diewa | @I ES e L 210 R o) PRSP [ 9152, | L ehet OF | Een00 ‘31;:";28 Z;g:gi;g 3225
KTAD 275 05 2% 250 85 125 SMAZATER o3 a5 54 12 AMONISE 2500 | Bio-p2e0  @S0<250 | 504 FKT-10 275 98 230 250 89 12.5 3-M12x1.75P 102 35 54 12 4-M10x1.5P 2500 212-0 .
FKT-12 310 111260 285 105 14 3-M12x1.75P 118 40 58 14 4-M12x1.75P 2200 015~g300  290~2290  46.1

KT-12 310 111 260 285 105 14 3-M12x1.75P 118 40 58 14 4-M12x1.75P 2200 215~2300 290~2290 454




F b)) 8%

NUAL CHUCK S

.Ef‘i/UNIT:rﬁm EAT/UNIT:mm

=

PEC. ﬂ ") ‘ Wk |2 B e B G F H J kK M a0
3DACT-04 100 60 70 83 20 3-M8x1.25P 10 42 14 17 4-M8x1.25P 8 5200  ©3-@95  @30-283 R T R T R N R T I B T R T R T R
3DACT-05 125 65 95 108 32 3-M8x1.25P 10.5 50 16 20 4-M10x15P 8 4800  ©3-@160  ©35-@111
6DACT-10 250 91 200 224 76 3-M12x1.75P 13 98 28 38.5 4-MIxI75P 2200  ©6-@249  ©70-0233
3DACT-06 160 72.5 125 140 42 3-M10x1.5P 12 65 19 23 4-M12x1.75P 10 4200  @4-@160  @46-B155
3DACT-08 200 82.5 160 176 55 3-M10x1.5P 12 75 22 28 4-Mi2x1.75P 11 3500  ©@4-@197  ©51-0184 SRESTIE Sis U EEL SHE NOS S I et il B st Blo gous ) g
: ' : 6DACT-15 400 122 330 362 136 3-M16x2P 15 146 40 56 4-MI2<.75P 1300  ©14-@406 @105-9387

3DACT-10 250 91 200 224 76 3-M12x1.75P 13 98 28 38.5 4-M12x1.75P 12 2600 @6-@267 @70-@252
3DACT-12 315 103 260 286 103 3-M16x2P 14 110 30 44.5 4-M12x1.75P 14 2200 @10-9325 ©81-@308
3DACT-15 400 122 330 362 136 3-M16x2P 15 146 40 56 4-M12x1.75P 17 1600 @14-@428 ©106-@410

O
=
>
-]
1L

:‘I‘l

#1& / Specification B i/UNIT:mm

= A B € D E G FH Gl M

3DAKT-05 125 65 95 108 32 3-M8x1.25P 10.5 57 24 36 4-M10x15P 4800 @3-g121 @44—@120‘
3DAKT-06 160 72.5 125 140 42 3-M10x1.5P 12 68 26 38.5 4-Mi12x1.75P 4200 @8-@169 @50-2158

#2 1& / Specification EGI/UNIT:mm

Allelellp E G F H J K M Ik

4DACT-08 200 825 160 176 55 3-M10X15P 12 75 22 28 4-M12x1.75P 11 3500 04-0197  ©51-0184 Ll A S, T N T L e 1 L2 e o212
82.5 X M12x1.75E 3700952 3DAKT-10 250 91 200 224 76 3-M12x1.75P 13 102 35 54.5 4-MIx175P 2600  @12-@266  @77-@250

= = 5 12 26-0267
TR T T T T T T T T R AT . 281-0308 3DAKT-12 315 103 260 286 103 3-M16x2P 14 1175 40 56.5 4-Mi175P 2200  ©15-@340  @85-@313

ADACT-12 315 103 260 286 103 3-M16x2P 14 110 30 44.5 4-M12x1.75P 14 2200  ©10-@325
4DACT-15 400 122 330 362 136 3-M16x2P 15 146 40 55 4-M12x1.75P 17 1600 @14-@428 @106-@410 3DAKT-15 400 122 330 362 136 3-M16x2P 15 150 50 74.5 4-Mi175P 1600  @30-@440 ©123-@416




F b)) 8%

NUAL CHUCK S

DIN6350 4DAKT 4-JAW ADIUSTMENT STEEL SCROLL CHUCKS SCI11SERIES THREE-JAW SELF-CENTERING CHUCKS
1—-3——1/@ EMEECFREATERERMNITIAR Used when high accuracy of machining is needed.
FEHEMEEFARFE, WAE, CE. DB Othershort taper mounting type like A/C/D is avaliable.
L)
wt g9l m"
F a}_{—
| Pl T %
Nig

#3248 / Specification B f7/UNIT:mm

'B.c g

| .

AlE & ollel = A M Lo}

ADAKT-08 200 825 160 176 55 3-M10x1.5P 12 82 28 43 4-Mi2x1.75P 11 3500  @8-B205  @59-B190 BEEE M standard accessories: BT - Optional accessories:

4DAKT-10 250 91 200 224 76 3-M12x1.75P 13 102 35 54.5 4-M12x1.75P 12 2600 D12-@265  @78-T249 _ - . - )
4DAKT-12 315 103 260 286 103 3-M16x2P 14 117.5 40 56.5 4-M12x1.75P 14 2200 B15-@323  @86-0296 © —FEIEJU 1setofoutside hardsolidjaws — © —¥&iBMEE 1 setof hard master jaws
4DAKT-15 400 122 330 362 136 3-M16x2P 15 150 50 74.5 4-M12x1.75P 17 1600 @30-0419  @124-0396 © —ERJ{ 1setofinside hard solid jaws o —EHLR 1 set of top softjaws
© —1{EF 1wrench O —FEHBEIN ( BE+#LEJN) 1 setof soft2—piece jaws(hard master jaw + top soft jaw)

© —EHE4 1 setof mounting screws.

#2348 / Specification B8 fT/UNIT:mm O
D1 D2 H h 2d g
SC11-80 80 55 66 16 66.5 50 4 3-M6 40 4000 1.9 >
SC11-100 100 72 84 22 74.5 55 3 3-M8 60 3500 3.2 _I
SC11-125 125 95 108 30 84.5 58 4  3-Ms 100 3000 5
SC11-130 130 100 115 30 86.5 60 5  3-M8 100 3000 5.6 m
SC11-160 160 130 142 45 94 65 5  3-M8 160 2500 8.8 —
SC11-165 165 130 145 45 94 65 5  3-M8 160 2500 9.5
SC11-190 190 155 172 55 105 75 5  3-M10 250 2000 13.8
SC11-200 200 165 180 65 109 75 5  3-M10 250 2000 15.5
SC11-230 230 190 210 70 120 80 6  3-M12 250 2000 16.5
SC11-240 240 195 215 70 120 80 8 3-Mi2 320 1600 26
Al | | SC11-250 250 206 226 80 120 80 5  3-Mi2 320 1600 27.5
= 11 |8 SC11-315 315 260 285 100 1475 90 6  3-Mi6 400 1200 47
T ! SC11-320 320 270 290 100 1475 90 6 3-M16 400 1200 475
i T \M SC11-325 325 272 296 100 1475 90 6 3-Mi16 400 1200 49
SC11-380 380 325 350 135 155.7 98 6 3-M16 500 1000 68
SC11-400 400 340 368 130 1735 100 6 3-M16 500 1000 73
E/UNIT:mm SC11-500 500 440 465 210 202 115 6  6-M16 630 800 121
SC11-630 630 560 595 270 218 1335 7 6-M16 800 800 200

@ i 2
6DAKT-08 200 82.5 160 176 55 3-M10x1.5P 12 82 28 43 11 @17-2193 @67-2178
6DAKT-10 250 91 200 224 76 3-M12x1.75P 13 102 35 54.5 12 2200 ©219-0248 284-0232
6DAKT-12 315 103 260 286 103 3-Mi6x2P 14 1175 40 585 14 1800 @23-2323 ©093-@296
6DAKT-15 400 122 330 362 136 3-Mi16x2P 15 150 50 745 17 1300 @30-2419 @124-0396




F b)) 8%

NUAL CHUCK S

SC12 SERIES FOUR-JAW SELF-CENTERING CHUCKS SC72 SERIES 4 JAW INDEPENDENT MOVEMENT CHUCKS
HMEECFRERATERENMIBERE Used when high accuracy of machining is needed. SEHEMEHEEANFE, MAR, CE, DAl  Othershorttaper mounting type like A/C/D is avaliable.

SEHEMEHERN 48, WAB, CE., DB Othershort taper mounting type like A/C/D is avaliable.

i z-d
1 W\-W"
H Sy
i L EHERMF . Standard accessories:
J ph © —%=k i 1 setofhardsolid jaws
] 7 | = _{Eﬁj 1 :gfgflounting screws
e = | alz |8 - SEEGE N |
o ? . |
L =| (P
il ps {I: :
' i) —
z-d f
>160
R  Standard accessories: AT % R 1 Optional accessories:
© —EIFJU 1setofoutside hard solid jaws o —EBE 1 setof hard master jaws
@ —ERJT 1 setofinside hard solid jaws © —FE#W T 1 set of top soft jaws 8 4/UNIT:mm
© —{AIEF 1wrench © —ESBEN (BE+E L) 1 setof soft2-piece jaws(hard master jaw + top soft jaw) !
© —FEM% 1 setof mounting screws. Lﬁ;ﬁ%@ D1 D2 H H li
A%/ Spacitication , __ __ , : NI  scree0 80 3 5 66 22 58 42 35  4-M6 @)
L - v ) ) SC72-100 100 4 72 84 25 77 54 4 4-M8
'MODEL Chuck Size 10 L2 HL B | SC72-125 125 5 95 108 30 78 56 4.5 4-M8 g
sci2-80 80 T 66 16 865 50 4 3_ME6 o ' SC72-160 160 6 65 95 45 96.5 65 5 4-M10 >
SC12-100 100 72 84 22 74.5 53.5 3 3-M8 & SC72-160A 160 6 53 71 45 96.5 65 5 4-M10 —l
sCi12-125 125 95 108 30 84.5 58 4 3-M8 5 SC72-160T 160 6 130 145 40 96.5 65 5 4-M10
SC12-130 130 100 115 30 86.5 60 5 3-M8 5.6 8C72-200 200 8 125 104.8 50 110 75 6 4-M10 m
SC12-160 160 130 142 45 94 65 5 3-M8 8.8 SC72-200A 200 8 75 95 56 110 75 6 4-M10 i
SC12-165 165 130 145 45 94 65 5 3-M8 9.8 SC72-250 250 10 100 120 65 117.5 82 6 4-M12
5C12-190 190 155 172 55 105 75 5 3-M10 13.8 SC72-250A 250 10 110 130 75 115.5 80 6 4-M12
SC12-200 200 165 180 65 109 75 5 3-M10 15.5 SC72-300 300 12 152 130 75 128.5 85 6 4-M12
SC12-240 240 195 215 70 120 80 8 3-M12 25 SC72-315 315 12 140 165 95 134 90 6 4-M16
SC12-250 250 206 226 80 120 80 5 3-M12 26 SC72-320 320 13 140 165 95 134 90 6 4-M16
SC12-315 315 260 285 100 147.5 90 6 3-M16 50 SC72-350 350 14 130 168 80 145 95 8 4-M16
SC12-320 320 270 290 100 147.5 90 6 3-M16 53 SC72-400 400 16 160 185 125 143 95 8 4-M16
SC12-325 325 272 296 100 147.5 90 6 3-M16 66 SC72-450 450 18 180 205 140 147 100 8 4-M16
SC12-380 380 3256 350 130 173:5 100 6 3-M16 82 SC72-500 500 20 200 236 160 161 106 8 4-M20
SC12-400 400 340 368 130 173.5 100 6 3-M16 85 SC72-630 630 o5 220 058 180 180 115 10 4-M20
SC12-500 500 440 465 210 202 115 6 6-M16 119
SC12-630 630 560 595 260 220.5 135 6 6-M16 185 SC72-800 S 82 — it 24 210 i35 e B=M20
SC72-1000 1000 40 320 370 260 241 150 15 8-M20
SC72-1000A 1000 40 285 330 280 241 150 T 8-M20
SC72-1250 1250 50 400 500 305 256 165 15 8-M20
SC72-1400 1400 55 400 500 305 246 155 15 8-M20
SC72-1600 1600 63 420 520 320 266 175 18 8-M24

SC72-2000 2000 80 450 560 350 290 190 20 8-M30




- ) < B2 54!

NUAL CHUCK SRIE

ZIVE ZE i 8

SIFPZINE B & ki ¢ SI3JAW COMBINATION MANUAL CHUCK

OBMATER. HE. MIPOERE, FTAEKRFE,

THREE JAW SELF CENTERING CHUCK ik e Bt i Wy

CHRAEEMLFBMRREIIGE, XEEH RN,

O BILRERE, THERBHAMELA,

@ It can be used onto lathe machine, rotary table or CNC
machine and so on, it can work for regular or irregular
workpiece without changing the chuck.

© It has the gripping function of both scroll chuck and
independent movement chuck.

© Back mounting hole design, and front mounting is
achievable.

A

ORBETEERAFRE, BTEERENEINT/FMI,
cRAEMEER, RFHEER, E8E.

© Special purpose automobile chucks, it's suitable for clamping
and machining various automobile brake hubs.

© With high self-centring precision, large clamping range
and light weight.

S1-160 4
S1-200 200 96 4 160 55 176 3xM10 85 31 11 8 26 3000
S1-250 250 101 5 200 76 224 3xM12 91 33 14 8 29.3 2500
81-315 315 118 5 260 103 286 3xM16 125 42 14 10 32 2000
S1-400 400 124 3 330 136 362 3xM16 145 58 17 10 36 1500
S1-500 500 145 6 420 190 458 6xM16 180 61 19 12 435 1000
B S1-630 630 160 7 545 252 586 6xM16 225 72 19 12 485 750
I & $1-800 800 200 10 710 267 760 6xM20 245 67 19 17 575 600
S1-1000 1000 236 10 910 460 950 B6xM24 245 88 24 19 67 380
, SI-1250 1250 241 10 1000 560 1100 6xM30 245 88 24 19 72 200
L |
3
<T| LJ 1 | P | o =
B B =
H
v
%10 G
B

SIF-160 160 82 4 125 42 140 6xM10 69 285 11 6 22.3 2850
SIF-200 200 96 4 160 55 176 6xM10 85 31 11 8 26 2500
SIF-250 250 101 5 200 76 224 BxM12 91 33 14 8 29.3 2000
SIF-315 315 118 5 260 103 286 6xM16 125 42 14 10 32 1700
184 / Specification B /UNITamm SIF-400 400 124 6 330 136 362 6xM16 145 58 17 10 36 1300
, ) SIF-500 500 145 6 420 190 458 6xM16 180 61 19 12 435 800
SIF-630 630 160 7 545 252 586 6xM16 225 72 19 12 485 660
SIF-800 800 200 10 710 267 760 6xM20 245 67 19 Tiié 57.5 520
SIF-1000 1000 236 10 910 460 950 6x M24 245 88 24 19 67 330
SCA-130-1 1295 75 665 105 254 41 125 4 16 50.4-90 4.8 SIF-1250° " 1250 ' 241 101000 580 | 1100 | exM30 245 88 24 19 72 L

SCA-130-2 1295 75 66.5 105 25.4 41 12.5 4 16 88.5-130 4.9 «REBEAERMNER, BASTIEH Subject to technology changes without prior information

# JEREFRATATHL Non-standard requirements can be made

O
=
>
-]
1L






